In our SSTA model, we try to use Fourier series to approximate the PDF, as illustrated in the formulas in Jinjun’s report. In the model we developed last week, we used moment matching to compute the coefficients. However, our experiment showed that such method is not accurate because the there is big error when estimating the high order moments. The following table illustrates the accurate moment and the estimated moment of an Gaussian random variable. 
	Moment order
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Estimated moment
	0
	1
	0
	3
	0
	15
	0
	98.2
	0

	Accurate moment
	0
	1.00
	0
	2.98
	0
	12.8
	0
	120
	0


In order to fix such problem, we try to compute the coefficients using the following formulas instead of moment matching:
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The coefficients bmn, cmn, and dmn can be computed in the same way. By using the above formulas, we can prevent the error introduced by high order moment estimation. We are going to implement this to verify our model.
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